
CERTIFICATE IF{ trRITilARY

CUEEICULUH AI{D IFISTEUCTI$IS {CtrC}

trItdule 2 of tlFE

Term-End Examinati$n

June, IOOE

ES-313 : FEUTDATI*IS IH SUEJEETS

Tf rne ;3 ,hou rs  . Msximurn Wbighfage : FSfl6

Nofe :

ff,l All fhe Jaur guesff*ns nre coffipulsory-

fifl All guesffnns ecrrg equal urefghtage-

I, Answer any fet*r qf the f*llowing in abaut 15* words

each :

{i} H+ur daes lvlixed Economy lvl*del explain the

economic develoPment ?

{ii} H*r# do family rystem and village panchayats affect

the tife *f the pcple ?
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(iii) How has modern education helped in promoting

national consciousness ?

(iv) What are the characteristics of social change ? How
has the use of machines in industries affected the
process of social change ?

(v) 

:.ffi[ 
limitations of United Nations, with

(vi) 
[:il,:l::TJ.f i'nsibre 

ror the raunchins or

2. Attempt any four of the following questions :

(i) Divide 6x3 - ITxz + ZZx - 15 by Zx - 3.

(ii) Factorise SxZ + 3Zx + IZ.

(iii) If the angles of a triangl e are in the ratio of 3 : 4 : 5,
find all the angles.

(iv) Solve the equation and verify the solution :

5 y  8 :  2 y  +  7

(v) The length of a cuboid is 2 times its height and six
times its breadth. The height is three times the
breadth. If the breadth is 5 cffi' find the volume.

(vi) 
lj:: ;ff?J';:"J::#'::: 

six times as o'Id as he is
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hri+ .,Find the angles x and y in the figure given belqw :

A

3.

B

Ansr,{sr any fa*r of the

eaeh :

C

folloruing in about 150 words

{i} why is friction called a necessary evil ? Gir:s situatians

where friction needs to be increased.

{ig What is fqrce ? Give examples of Gravitational force

and Magnetic force.

tiiil Are meas*rrements made in cur country linked ruith

international stand*rds ? If 5o, how ? Give the base

units of

ta) Electric current

{b} TemPerature

(c) Luminous intensitY
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(iv) What are the characteristics of solids ? List ways of
separating components of the following :

(a) Rice and dust

(b) Iron filings and common salt

(c) Water and ghee

(v) What are different types of plastics ? Give examples
of natural polymers and synthetic polymers.

(vi) Name various kinds of energy. What kincJ of energy
transformation would take place in the following :

(a) Photosynthesis

(b) Microphone

(c) Electric generator

4 - Answer any four of the following in about 150 words
each :

(i) Give importance of rotation of crops.

(ii) What are fertilizers ? Give different methods of
application of fertilizers

(iii) How is ttrreshing different from winnowi'g ?

(iv) I-low are different seasons formed on earth ?

(v) What is Solar eclipse ? FIow does it occur ? Draw a
diagram.

(vi) What is food chain ? Give the process of transfer of
energy from one level to another with suitable
example.
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E{qtr€@Fer3+ftrfrx+TTtrr-H
{fr.*.fr.}

*.*.€. iFT dqg.d 2

g*iil TrqtryT

W' 2oo8

€.Es--gt3 'ffi fr aTf=trt

sqq: F flJ sil?r+Hq sill?tr: ?fi'/a

4TT;

s=# afrf sgr €r# # t{i)

fir] sE# s'F# d EII?FI FqlT d l
! = :

1. ffi ii * @i EffHFit h Fn{ q#+ trrqrr

1F* ffiii fr frfqq :

{i} 
= frf,sd -{dq+{qT ry 

ffi rFfi s*ffi+ ffi+t€

flT +qf,T i ?

{i-' ffiHRffi+r'* 
4r

E=-= t 3
F.T , * .



(iii) w +d-rr + TiEdr fr sTrrTfus RRn i fussfrR rrdmn +1 + ?
(iv) HIqrFl-s qfrEfr +1 M Frr-FTr t ? w1ilq qqTt+ t. w+t + HrqTfu qfrqdq s' {rmqr+S qqrhn g$ t ?
(v) 3-{t{ur tt gq TiTm ug-rfq +1 qTqreil sr E fqs t l
(vi) 'r1q6 

Bt$) srifrH' +)
sRqT sT qlrqrr w d

s{r-{rT qi{t fr sir-+1r fr
?

z. ffi fr fr +t$ arrf,FT En st :
(i) 6x3 - r7x2 + 22x - rs +) 2x -s t fu*Fd st I
(ii) grrTg-rs st :

5x2 + 32x + lz

(iii) qR fslsi qly 
t dTil +1"il sr sr.qrd 3 :4: 5

d' n) s{ H-fi +}"il q, q'H rddrr-fudqT d'r ?
(iv) ffi qqtfi{uT +1 Ef, qt dqr strF.r qeTrr{

q l s t :
5y 8 = Zy + 7

(v) ffi wrq dt Hqrg ns+1 fu t Wql dpr trfr o gfr + r rsq1 fu fu t .t- Tfi t r qR
fu s frtfr t, ni {sfir qrqilr ril +TT ?

(vi) t sq{ qrE H}il{ s} Blg s-*-+1 u-dqq silg t u
gfr Ei vq'fr r a} E-nrgq sssi Tdqrq 

"1i 
ffi+ ?
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fi rr$ ryfr ii l.xqh I y sT qrq qrqq

A

a. ffi fi fr ffii atrffiit + Ffrq tr** FTqrr
150 ETi fr frFsr{ :

{i} qftr a} qffi gq'r{ HT q{Sr EIiTT * ? tS

srdFqffixtr qH€ qEf qfrT t sTFrs 6-{+ 41

r y ! t rHT+ r
{ii} qn ffi +6fr fi ? Tffil++T q.tr EslT Eq#q

q n s r y i l

{iii} F{T lTf{n= + u1.q Bffiq utfrii + qIE g.l

€ / qfE E[, dI Efiq t F-q]qll€n -.ilr -rrvna*'

(H) 1-{g( tIRT

(€) EItItTFt

(r) eirfa ifrrnT
(q) qqFf H1 qHI (fiEfr)

{*di} *A
+ t ;
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(iv) ts)q Tq'fr si +rTT M frfr t ?
+ Ern+T +i ilrrt-BTq.il 

"$ 
+i frfirqi +i Hqjq.rrq . *'

(s) qtqTT $iR Tn-ffi
(u) trh {f derT uri HT Trfm
(r) qrfi (qn) B+{ qi

(v) q1lkm + frFr-d ;l.rn +t{-q1q fr t ? qr-f*m
dPrT €Fds qgddr + s-(ril{q.fitqq r

(vi) sqf + ftfirT rfirfr * qFI qnrsq r ffi fr
fu-H trf,R 6r g.qf iliil{uT E}qT :
(s) rrnr-flf-riqftuT
(s) qpmirhlq
('r) sd6 qqte{

4. ffi fr fr ffi ilT silfr + BT{ q+m f,rrril
,150 {rqJ fr flfqq :
'(i) qTffl Erfr SI It6E ffi1{q I
(ii) sd{m rTT Ei-dr t ? Bdr$} qi grtqrn +T} Hi

ffq* hF{qi qnr{q I
(iii) {ri{r (frfu-'T) dPr q{snr (f;ru}--g-{T) q qzrr i}iil\

d ?
(iv) ysql T{ frFrq EW *fr qrilfi t ?
(v) q$-xE"T fu'il +Efr t ? qd +-s frn A ? slFfd

q;ilctr{ HTAq I
(vi) Efsr TT* ftfr q6a t ? w3m --qr.{uil H1qErftil'fr qs Fil{ t wt Ril Frs sqf .i"r" H1

Hffrqr ild'tq I
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